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1. frefafed wom § 9 FE-9/RR-9 99 87

(1) F" & TR T3 (1920) & 99=E &
i U Frafael &1 TS 9R SR
R foran T em

(2) 1948 ® HTUF 7 ART YR W Y=l &
TS I AT i FEEHR HT e

firfefad 2 § 9 98 I g

(1) wee(1)

(2) ®ad (2)

(3) T (1) T (Q2)

@) (1) 3R (2) FA

. freafafas 4 9 5w w@ 9 wws fmve =

Hiete foeeh ww gU ® ?

(1) RT3 (2) T

DR (4) TR

. Trafafed & 9 &9 @1 wEe ToR-ufier T

Y wefea & 8?2

(1) A -11 (2) HE=uE-1

(3) 2o (4) T=AZ-1

. TSI & g Heaehiel Tedi | “Afffaer” oo

T AN TR ST en

(1) Ts=ta g & fem

(2) e e faum & g & fau)

(3) TSR SAfaw & faw)

(4) g&a =nfas sifaert & o)

. Shifast, fT8 Ae1 =Ree gcarehis § 9o et

-

(1) SIRERfEE (2) SIS FHOT |

(3) HEUTHE INES (4) Tasmafag afers

. frafafes & 9 fees Tomgarn 1 <eit famt

% WY 1817-18 i Aefieer Gy 1 ara=id i

oft?

(1) Sfae sffzelt  (2) 9cd Hewhiw

(3) MR IersTedt (4) ST et

. et farga, st 25 O™, 1948 w1 Tifed W

T 1 e @ off

(1) &t (2) TG

(3) 3L (4) M0

. i’ % FURsk B 9?

(1) TR 3UTea™g (2) STEREY =A™
(3) =l &9 forret (4) =0 =T de

. Which of the following statements is/are true '?

(1) After the Nagpur Session ( 1920) of
Congress, the provincial Congress
Committees were constituted on linguistic
basis.

(2) In 1948, Congress rejected the demand of
formation of provinces on linguistic basis.

Select the correct answer from the code below:
(1) Only (1)
(2) Only (2)
(3) Neither (1) nor (2)
(4) Both(1) & (2)

. Sixteen coins of King Menander have been found

from which of the following sites?
(1) Bairat (2) Nagari
(3) Rairh (4) Nagar

. Which of the following rulers does not belong to

Gurjara-Pratihar dynasty?
(1) Nagabhatta-11

(3) Devapal

(2) Mahendrapal-I
(4) Bharatrabhatta-I

. In pre-medieval kingdoms of Rajasthan, the

designation "Naimittika" was used for
(1) Royal bard
(2) Head of public health department
(3) State astrologer
(4) Chief judicial officer

. The revolutionary, who was convicted in the

Mabhant Pyarelal Murder case
(1) Zorawar Singh

(2) Shyamji Krishna Vanna
(3) Kesari Singh Barhat
(4) Vijay Singh Pathik

. Who among the following negotiated Subordinate

Alliances of 1817-18 with Princely States of
Rajputana?
(1) David Ochterlony (2) Charles Metcalf
(3) Arthur Wellesley  (4) John George

. The princely state. which was not the part of

Rajasthan Union formed on 25" March, 1948?
(1) Bundi (2) Pratapgarh

(3) Udaipur (4) Shahpura

. Who was the editor of "Tyag Bhumi'?

(1) Hari Bhau Upadhyaya
(2) Jai Narayan Vyas

(3) Devi Dutta Tripathi
(d) Rishi Dutt Mehta
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9. gofed sifsre:
Hfax e
i, HHYR HeRd (1) TSR
ii. TfaeTer (2) SR
iii draen A (3) FTEg
iv. Acha (4) dreit
el e T T HIWC;

i ii iii iv
1 (@ 3) “4) (2
2 @ (3) (2) ()
3 @4 (2) (3) (1)
(CONNEY 2) 3) )
10. Tadigg fhet & frafafea @il o @ s@-
Th S T ©?
(1) H9eaH A
(2) HraEr <ol
(3) IfFSTaR AfT
(4) Tersm Hamr iR
11. frfafed § 9 sH-91 foser e el &1
el 9 wafud et B2

(1) SR
(2) THARH
(3) THFIH
(4) 7
12. frefafaa & @ «F o gafad T2 82
ToFT WGk
(1) et TR - R T
(2) it - FSYHI 3T
(3) Hiem - TS goRe
(4) TR - HftT gy
13. Tl <ot 5| T St @ Heg ot
(1) @m (2) wie
(3) st (4) 3l

14. A 9Ga amers e off
(1) 9d =OR™ Hi
(2) @a framRtar &
(3) dd & &
(4) Hd THSRU HI

15. TR St @ wafud 31 Yol ew
(1) e (2) @
(3) Tm (4) &t

9. Match the following :

Temple District
I. Kameshwar Mahadev  a. Alwar
II. Shitaleshwar b. Jodhpur
III. Pipala Mata c. Jhalawar
IV. Nilkantha d. Pali

Choose the correct codes :
I IO o 1Iv

(1) a ¢ d b
2)d ¢ b a
3)d b c a
4 a b c d

10. Which of the following temples of the Chittorgarh
Fort is a Jain temple?
(I) Kumbh Shyam Temple
(2) Saatveesh Devari
(3) Samiddheswar Temple
(4) Tulja Bhawani Temple
11. Which of the following painters does not belong
to Al war School of Painting'?
(I) Jamnadas
(2) Bakasararn
(3) Nanakram
(4) Nandram

12. Which among the following is not correctly

matched?
Work Author
(1) BotBharmali - Yadvendra Shanna
(2) Pagi - Chandra Prakash Deval
(3) Kodmade - Meghraj Mukul
(4) Pagphero - Mani Madhukar
13. The singing tradition with which Gavari Devi was
associated :
(1) Langa
(2) Mand

(2) Talabandi
(4) Thumari

14. Women saint Daya Bai was a disciple of
(1) Saint Charandas
(2) Saint Nimbarkacharya
(3) Saint Raidas
(4) Saint Ramcharan

15. The dance form related to Garasia Tribe is
(1) Gavari (2) Loor
(3) Bam (4) Terahtali
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16. fasagE 3en & R ¥ erdifafad wul W faur
EQIE LS
(1) fooaem 2on Torom & ufag oies 9,
fSeh! FErl =URM AR A& TS &
®Y H ®UIRG i T
(2) TISERM 3o U LM & He-HeSh
|
foreiferfad %2 § @ 9@ S AT
(1) &g (1) 9 2l
(2) Fod (2) 9 B
@) T (1) & (2) T B
@) = (1) ¥R (2)FF B
17. -1 &1 FA-11 ¥ GAfaa HIE aen T8 3™
F1 =9 = T #e ¥ &I :

Teit-1 (veda e ) G-I Rafa/ <o)
(A.) TcaEd (i) —gsfervg
(B.) foreimsmi (i) T T SR
(C.) HIS= %eh (iii) <stfn
(D.) A=t (iv) &9
A B C D
(1 (@) @av) @ @
2 av) @) @) (@
3 @Gv) @) @G @)
@) i) @  av) (1)

18. S fafguar o+ & TR geeiel § o S
T T T TR R fFE aqgry/smEda &=

o T yenta fafaua & @i 22
(1) ST goehih (2) drel Yot
(3) TIHE1 ki (4) =™ @ FE
19. i @1 gafed & 22
s weor )
(1) ¥ - ST
(2) =it = geive - e faTen
(3) T = - 3adl
(4) @i TH - ST

20. FE-1 w1 F-11 § Gafea i den = g
FHE & ATIAR T IW H =FIF hifT:

FR-1(TeT) -1 (S §)
(1) & (i) JHEETR d &l §R
2 (ii) Tod SORAIHE (TEEd)
g wifeesh AR i
(3) M (ili) eTeATf2® HEEIR 9
=T HETATR i
(4) @« (iv) GUIfer e 9 g9 s

Eal

16. Consider the following statements about Vijaydan
Detha :
(1) Vijayadan Detha was a famous writer of ,
Rajasthan. whose story was adapted as
Charandas Chor play.

(2) Vijaydan Detha was a co-founder of
Rupayan Sansthan.

Choose the correct answer from the code below:
(1) Only(1) is true.
(2) Only (2) is true.
(3) Neither(1) nor (2) is true,
(3) Both(1) & (8) are true.
17. Match List I with List II and select the correct
answer using code given below:

List-1 List-II
(Mountain Peak) (Location/Country)
A. Elbrus (i) New Zealand
B. Kilimanjaro (ii) U.S.A.
C. Mt. Cook (iii) Tanzania
D. McKinley (iv) Russia
Codes:
A B C D
() @)  Gv) (i) (@)
() @Gv)  G) (i) (@)
(3) Gv) (i) @ (i)

@ G O (v G
18. Among the mathematical indices for measuring
bio-diversity, which one shows the mean species
diversity in a habitat at a local scale'?
(1) Alpha index (2) Beta index
(3) Gamma index (4) None of these

19. Which is not a correct match?

Industrial Region Country
(1) Ruhr - Germany
(2) Southern New England - United Kingdom
(3) Po Valley - Italy
(4) Kan to Plains - Japan

20. Match List-I with List II and select the correct
answer from the codes given below:

List-1 List-11
(Canal) (Connects)
A. Kiel (1) Mediterranean sea &
Red sea
B. Son (i) Elbe estuary & Baltic sea
C. Panama (iii) Atlantic ocean & Pacific ocean
D. Suez  (iv) Lake superior & lake Huron

o
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he:

A B
I G )
2 @ )
(3) (@v) (i)

(4) (i) (i)

21. Ffafed & o & €@ wida =@ 9ot we

Fefeerd T2 272
(1) et =hier
(3) TaTw g1

22. S W gafed T& € ?

TTTTOT
Eaticalsit)
(1) diog -
(2) wmEm -
(3) 9™ -
4) @A -

(iii)
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D
(1i1) (1)
(iv)
(i) @
» @) 21.

(2) TR
(4) WG Hiel

o

stifeem

fermaa ww 23

EXl
Kirape)

22.

23. -1 1 -1 § gafaa HIfe 7on 981 3™
1 w9 e R 2 ¥ FiW

geit-1 geit-11
(9T ¥ wfaa &) (Hem, ad 2018 )
(1) SHEe e (i) 103
(2) HraeH e (ii) 46
(3) U= U= (iii) 544
(4) T Sa FWRTT  (iv) 76
A B C D
(H @Gy @Gv) (@ (i)
(2) i) () »H v
(3) @Gv) () (1) (1)
) @) @ @Gy @ 24.
24. 9Nd eI fafide (BEL) 90 (ISRO) &
FEAN § S 8
(1) i drafest (2) GaAs |R ¥at
(3) TXHIY] TR (4) 9-s&

25. GE-1 9 FA-11 & gAferd sifsg den = K@ | 25,

M HIE T IW FHT TIT HIT:
i1 (fser) Feit-11 (vda )
(1) SER (i) =TT
2) SR (ii) e
(3) TR (iii) TG
(4) Hrt (iv) g

Codes:
A B C D
(1 Gy - aGv) (i) (1)
2 O (i) i) (iv)

@) @Gv) () (i) ®

@ (@) (D) » )
Which of the following mountain peak is not
situated in Eastern Ghats?

(1) Gali Kenda (2) Salher

(3) Sinkrarn Gutta (4) Madugula Kenda

Which is not a correct match?

Shifting Agriculture State
(1) Pondu — Odisha
(2) Masha — Himachal Pradesh
(3) Poouam — Kerala
(4) Jhoom — Assam

Match List I with List II and select the correct
answer using code given below :

List-I List-II
(Protected areas of India) (Number in
year 2018)
A. Community (1) 103
Reserves
B. Conservation (i) 46
Reserves
C. National Parks (i) 544
D. Wild life (iv) 76
Sanctuaries
Codes:
A B C D

M G G G G
() @i () H @)
@) Gv) i) (i) (@)
@ @G G G @)
The Bharat Electronics Ltd. (BEL) is collaborating
with ISRO to develop
(1) Agro technology

(2) GaAs solar cells

(3) Nuclear technology

(4) C-DAC
Match List-I with List-IT and select the correct
answer using code given below :

List-I List-II
(Districts) (Mountains)
A. Jalore (i) Barwada
B. Jaipur (ii) Jharola
C. Alwar (iii) Raghunathgarh
D. Sikar (iv) Bhangarh
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e

[N

A B C D

(H G @ @Gy (i)
@ @ @) 3G (1v)
3 @Gv) @) G (@
@ @) @G @ (1)

26. Trefefed § o v @ gerfea o o foem
weq S w1 famn € 2

(1) gFh=<T FIfedl  (2) SN ved
(3) TR Tad (4) f=an w&a
27. T =t gafaa wifse
qeit-1 TEit-11
(qe feerg (=g gfererett
i) ¥ gfEsmr
eThera farer)

(1) faga@ o (i) SR T TR

(2) 7 qRESET (i) SR, 9ol T SiEg

(3) O WRESHT (i) STAYR TH FAHTE

(4) STEH URENE (iv) TIEMTE T IR
A B C D

M vy @ G (i)
@ O Gy G (i)
@) Gv) ®H  aGi) ()
@ @O @ G (1)

28. TSR § HE-S[ HEMl § 30 B arell Yais
Aot & fou SRt ®
(31) B WM W Gaga ¥st &1 Iard
(3) SHEE! wEiedl faor-ufeem garei & HHia
21
(m) efq drammedt get gansti w Icta
(1) (1) W (W) (2) (31, (3) W& (¥)
3) (=) @ (3) (4) e ()
20. T H W B Y T A © 2
(i) IR fa™E @ W HEEEei-2002
(i) Tsreem @i Hifd-2015
(iii) fSten @fe wREYM g famEet-2016
(iv) TSRAE eT9uH wits Rerad  fFamreret
(Senfd ®/E 2016 )
h:
(1)
(2
3)
“4)

Fad (i), (i) T (iv)
Fad (i), (i) T (iv)
A (i) T (iv)

3 gt

Codes:
A B C D
(1) G () (iv) (i)
(2 @Gy @) (i) (iv)
(3) @Gv) () (D) (1)
@ () (i) (1) (iv)

26. Which of the given hills is an extension of
vindhyan ranges in Rajasthan?
(1) Mukandara hills (2) Dora mountain
(3) Alwar hills (4) Girwa hills
27. Match the following:
List-I
(Major irrigation)

List-11
(Beneficiary

projects) districts of
irrigation project)
A. Sidhmukh (i) Jalore and
Project Barmer
B. Narmada (i1) Jalore, Pali and
Project Jodhpur
C. Jawai (ii1) Udaipur and
Project Pratapgarh
D. Jakham (iv) Hanumangarh
Project and Churu
Codes:
A B C D
I v O @ (i)
2 @O Gy  G) (i)
(3) () (i i) (i)
@G @O @  3>) o (@v)

28. The dust storms originating in Rajasthan in May
and June months are caused due to
(1) origin of convectional currents at few places

2

Aravalli hills are parallel to south western
winds

(3) origin of fast speedy easterly winds
(1) (1)and (3) (2) (1),(2) and (3)
(2) (1)and (2) (4) Only(1)

29. Which statements are correct from the following?

(1) Marble development and Conservation Rule
-2002 -

Rajasthan Mineral Policy - 2015

District Mineral Foundation Trust Rules -
2016

Rajasthan Minor Mineral Concession Rules
(Amended upto May 2016)

Codes:
(1) Only (i), (iii) and (iv)
(2) Only (i), (ii) and (iv)
(3) Only (i) and (iv)
(4) All of these

2
A3)

4)
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30.

31.

32.

33.

34.

35.
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freferfad & ¥ A o @Sl 1 ToeM e
Ihell ScAEh T4 B2
(i) d e T SEd S TaEh
(i) = TR
(iii) e
(iv) Herrge
hd:

(1) () T (i) 2 (i), (i) T (iv)
(3) (@), (i) T (i) (4 (@), (i) T (iv)
d 2017-18 (fTRHw=R 2017 %) H TSI &
HH W &9 § Haifue %ed 9 (Crude Oil)

IS W g3 B ?
(1) SHHFR-TFR afg  (2) e ofe=
(3) EH-TER 9fFT  (4) TTH § *rE T
STUAT 2011 % TR HHI: RG T TSIl
1 T SEEE %1 gfawd w0 e ?
(1) 24.87% W& 31.15%
(2) 34.15% Td 24.87%
(3) 21.87%, Td 34.15%
(4) 31.15%, TF 24.87%
fretfofiad & o Use™ o SH-%F 9 wgwgel
Gl i S 272
(i) ST e e
(i) HH= 3
(ili) SeTaRITTR ST
(iv) TTERET S
he:
(1)
()

() T (i)
(i), (i) T (iv)
(3) (), (i) T (iv)
@ (@), (i), (i) T (iv)
2011 1 STUAT & TER TS & T e
o eyfad SHefa 1 SHEen H1 s e

el e | <A 2?2
(1) E SR HeTR (2) FHL IR TS
(3) ST SR ANR  (4) TR SR B

U, SR B yEdifad Sirae Rewre fereht
G Y%A (Joint Venture) 872

(1) ONGCL Td 9Rd TR

(2) OIL Td TSEAM TIHK

(3) HPCL U8 ¥Rd WK

(4) HPCL TH TSI WK

30.

Rajasthan is almost a -sole producer of which of
the following minerals?
(i) Lead and zinc ores
(i)
(1ii)
(iv)

Copper ores
Wollastonitc

Salenitc

Codes:

31.

32.

33.

34.

35.

(1) (i) and (iii) (2) (i), (ii) and (iv)
(3) (i), (i) and (iii) (4) (i), (iii) and (iv)
From which area of Rajasthan the maximum crude
oil production was received in the year 2017-18

(upto Dec. 2017)?

(1) Bikaner-Nagaur basin

(2) Jaisalmer basin

(3) Barmer-Sanchore basin

(4) None of these
What is the percentage of urban population in India
and Rajasthan respectively as per census 20117

(1) 24.87% and 31.15%

(2) 34.15% and 24.87%

(3) 21.87% and 34.15%

(4) 31.15% and 24.87%
Which among the following are important mineral
based industries in Rajasthan?

(1) Zinc smelting industry

(2) Cement industry

(3) Electronic industry

(4) Marble industry
Codes:

(1) (i) and (ii)

(2) (1), (iii) and (iv)

(3) (i), (ii) and (iv)

4) (), (i), (iii) and (iv)
As per 2011 census, which districts of Rajasthan
are having lowest percentage of Scheduled Tribe
population in their total population?

(1) Sikar and Dholpur

(2) Jhunjhunu and Churu

(3) Bikaner and Nagaur

(4) Ganganagar and Hanumangarh
Proposed oil refinery at Pachpadra, Banner is a
joint venture of

(1) ONGCL and Government of India

(2) OIL and Government of Rajasthan

(3) HPCL and Government of India

(d) HPCL and Government of Rajasthan

)
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36.

37.

38.

39.

40.
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i o gt T ® 2

Ttem YTHHR
(1) sfierrer - HR
(2) I% - Pt A
(3) HATE HER - W
(4) SR - TrerE

Fa T wv+ Feifed § @ @6 @8
fafe 9ra WA sifufm, 1919 & d@d gal

gQ?

(i) 1926
(i) 1945
T IW &1 WA A9 kU T He ¥ *ifve
he:

(1) @ (i) @) (i) I (i)
(3) (i) ¥ (i) @) (i), (i) 3 (iii)
iR FRASRE WR H ge’ fRa fo?
(1) 37U H® et

(2) =g weaHT

(3) #HH AREU AU

(4) &Y FR

ORAF dfaaE @ & g | feifed o 9
HH 9 FHoF T 27

(1) I8 99%h HAHeR W SR el

(2) I8 gy fared o1 afom of

(3) I8 wgcitd A= el eff

(4) % &% afafqal & meag 9 wRika o
& I H w9 = U T He § Hifw
h:

(1) (1) 3R @)

2) ()3 (2)

3) (2) ¥R (3)

@ (1), (2), (3) ¥R (4)
“IRA & ITAdY AT & AT w1 g ™
TR gR SR UE A ¥ s@enfa F S,
fogen woug fafu gro Sysry " o Tenfua
fomam T

(1) 159 dfgum Helem g/

(2) 163 dfaum HeleA g/

(3) 173 dfgum Helem g/

(4) 189 Hfgum Helem g/

(i) 1937

36.

37.

38.

39.

40.

Which is not a correct match?

District Mascot
(1) Bhilwara — Peacock
(2) Churu — Black Buck
(3) Sawai Madhopur — Lion
(4) Jaisalmer — Great Indian Bustard

Which of the following election/s of the Central
Legislative Assembly was/were held under the
Government of India Act. 1919?
(1) 1926
(i) 1937
(iii) 1945
Select the correct answer using code given below:
Codes:
(1) (i) only
(2) (ii) and (iii)
(3) (i) and (iii)
(4) (i), (i) and (iii)
Who has authored 'Gandhian Constitution for Free
India'?
(1) Aruna Asaf Ali
(2) Achyut Patwardhan
(3) Shriman Narayan Agarwal
(4) Humayun Kabir

Which of the following statements are correct in
regarding to Indian Constituent Assembly?
(1) It was not based on Adult franchise.

(2) Itresulted from direct elections.
(3) It was not a multi-party body.
(4) It worked through several committees.

Select the correct answer using code given below :
Codes:

(1) (1)and (4)

(2) (1)and(2)

(3) (2)and (3)

@ (1),(2), (3) and (4)
"The age of a Judge of the Supreme Court of India
shall be determined by such authority and in such
manner as Parliament may by laws provide",
inserted by

(1) 15" Constitution Amendment

(2) 16" Constitution Amendment

(3) 17" Constitution Amendment

(4) 18" Constitution Amendment

)
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41.

42.

43.

44.

45.
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7o el @ grfyd fefea o @1 @@t
EIGIRETICIE IR

(i) TR T g T

(i) HYEME AR TAH HIA T

(iii) foat foew s 9Ra 99

(iv) T, TUEH SHH TEE T
TE IW HI =TI BT :

(1) (@v), (i), (iii), (i)

(2) (@), (i), (iid), (iv)

(3) (@iv), (i), (i), (iii)

() (iv), (iii), (ii), (i)
fretifena o s woifge wfuafd (1976) & w==
w #?

(i) TR et (i) TETE. ¥

(i) sRa <t (iv) .. Ered
& I H w9 = U T He ¥ Hifw:

(1) (), (i), (iii) 3R (iv)

@) (@), (i) R (i)

(3) (). (ii) ¥ (iv)

@) (ii), (iii) R (iv)
ARG & WOuH & STI=8] 240 &% =T £©
9 T & & fau faf=m s e &t et #t
vt & Tt o =1 o 9 B W 9w gafe
& 72

(1) 240 (1) ()-%eaM IR FhER g

(2) 240 (1) (@)-AET

(3) 240 (1) (N-gg=

(4) 240 (1) (3)-30 3R §=
freiferd § @ ®F & qiE # 9Rd # Tfd
J SToet vIfeREl T WART I U SIEEUN G
g wwon &1 R MR s faeme ®, fae
HRUT AN TLMA ¥ TR T GR&m 1 1R
Tl 2

(1) 26 TR, 1962 (2) 3 =R, 1971

(3) 25 5, 1975 (4) 26 SH, 1975
ARATT W™ & STIe8] 87 & ST<HId WRd
gt SAfgaTI 34 @

(1) g & A Tl &1 g ook |

(2) F8E & IA WS b WIS SAfERE o

(3) WEE & I WA & HgH 9 |

(4) TH W THAG S & I G&A o

41.

42.

43.

44.

45.

Select the correct chronological order of the
following judgements dealing with Fundamental
Rights :

(1) Golaknath v/s State of Punjab

(2) Keshwanand Bhatti v/s State of Kerala

(3) Minerva Mills v/s Union of India

(4) A. K. Gopalan v/s State of Madras
Select the correct answer:

(1 (), (i), (iii), (i)

2) (®, (i), (iid), (iv)

() (), (1), (i), (iii)

@ (), (i), (i1), (1)
Which of the following were members of the
Swaran Singh Committee ( 1976)?

(1) A.R.Antulay (i1) S.S. Ray
(iii) Haridev Joshi (iv) C. M. Stephen
Select the correct answer using code given below :
Codes :

(1) (@), (i), (iii) and (iv)

(2) (1), (i1) and (iii)

(3) (i), (ii) and (iv)

(4) (ii), (iii) and (iv)
Which one of the following pairs is not correctly
matched in terms of the power of the President of
India to make regulation for certain Union
Territories under Article 240 of the Indian
Constitution?

(1) 240(I)(a) - Andamanand Nicobar
Islands

(2) 240(1)(2) - Lakshadweep

(3) 240(I1) (3) - Puducherry

(4) 240(1) (4)
On which of the following dates the President of
India, using his powers, declared by proclamation
that a grave emergency existed where the security
of India was threatened by internal disturbance?

(1) 26 October, 1962  (2) 3 December, 1971

(3) 25 June, 1975 (4) 26 June, 1975
The President of India addresses the Parliament
under Article 87 of the Indian Constitution

(1) in a joint sitting of both Houses of

Parliament.

- Daman and Diu

(2) in a joint meeting of both Houses of
Parliament.

(3) in a joint session of both Houses of
Parliament.

(4) both Houses of Parliament assembled
together.

6)
O



zThe Vision

46. AHE & A R 7 e fEg & s=ta
fom 377 & A iRET & 9SS N UH
&a 4 etfusrdd fRd woel 38TT ST WA 7

(1) 19 (2) 20
3) 21 4) 22
47. freAiferd & 9 o & 9rdE gug #1 fas
afufear €2
(1) 9rerhe gfHfa
(2) @ o afafa
(3) @ 3UHY |iHfd
(4) TS TEE o oA a1 Tl et T wihfd
TS IW &1 WA A9 U T He ¥ Fif:
he:
(M) (1),3) AR @ () (1), Q) 3R (4)
3) (1), AR G) () (2).0) 3R (4)
48. A & o= TS HeEeRal Tdeh &l 39 T8 °
BAW W 1 Uiewan Ftiferd o o fohmen w9 @2
(1) SRTHr 37T
(2) YRA 1 HEIEERT
(3) 3=HAH ARG 1 =R
(4) HE Ak Gl RN hT EAH
49. A Hakhdl TN i Tl fordent STerEn
T H TE?
(1) TRaTen gfaaea
(2) FuaH dfHfd
(3) GerH wiafd
(4) ORI YITEE GUR ST
50. SHfgd aifeeht i STGUROT &1 YEeTd fha <o
H g 22
(1) e (2) T T STHIGHRT
(3) gMEe fren  (4) sAferan
51. feifera & ¥ ®F W el YA H AER
arfufem, 2005 =t SR o Sfeafad 22
() I I ARSI
(i) GO HT Gehed
(iii) Egfed AR

(iv) cAIhaifreh TSl St Yo

& IW H w9 = W T He § HiW
%
(1) =aa (i)

(3) (). (i) 3 (iii)

(2) (i) ¥ (ii)
@) (), (ii), (iii) R (iv)

46. Under Rule 377 of Rules and Procedure and
Conduct of Business in Lok Sabha, the maximum
number of matters that can be raised by Lok Sabha
members in one day are

(1) 19 (2) 20
3) 21 (4) 22

47. Which of the following are Financial Committees

of Indian Parliament?
)
2)
3)
)

Estimates Committee
Public Accounts Committee
Committee on Public Undertakings

Joint Committee on Salaries and Allowance
for Members of Parliament
Select the correct answer using code given below :
Codes:
(1) (1), 3)and (4)  (2) (1), (2) and (4)
(3)(1),(2)and (3)  (4)(2), (3) and (4)
48. The Comptroller and Auditor-General of India can
be removed from his office in like manner as
(1) Speaker of Lok Sabha

(2) Attorney General of India
3)
“4)

Judge of the Supreme Court

Chairman of Union Public Service
Commission

49. Central Vigilance Commission was set up on the
recommendation of

(1) Gorwala Report

(2) Kriplani Committee

(3) Santhanarn Committee

(4) Administrative Reforms Commission of India
50. In which country the concept of Public Interest
Litigation was originated?

(1) Canada

(2) United States of America

(3) United Kingdom

(4) Australia
Which of the following terminology is/are
mentioned in the Preamble of the Right to
Information Act 2005?

(i) Transparency of Information

51.

(i1)) Revelation of Information
(i) Informed Citizenry
(iv) Paramountcy of the democratic ideal

Select the correct answer using code given below :
Codes:

(1) (i) only
3) (), (ii) and (iii)

(2) (i) and (ii)
@) (i), (ii), (iii) and (iv)

6N
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52. gEI-1 1 Ge-11 @ gAfed i@ ik = @
T e H H HE IW H T HINC :

geRt-1 (@) -1 I )

(1) ¥ga ®eet (i) feame we fowme

(2) W@ AT (i) « 9d i seas
St

(@) = A (iii) 3 Rufsers it sfrean
: SAAIHE ATF 328
A TS LT

(4) TEH wEfed  (iv) afen T EHiwmfew
FHIEEH T feed
AT 7 3fogaq
TeHdREg

A B C D
(H @ av) @ (1)
@ @ @ @ @)
(3) @Gy aGv) (@) (i)
@ @ @ @) (1)

53. 9RG & GOUM & 3TIe8] 368(2) % Sl &
Ted A HiE fadas 9Ra &1 GHg g Wik eH
% YA SR faUEES & UE Gdhed gN
FEad % ford e €, @t

(i) foerrasn ey TG T ghd 2

(i) foerTgsn Hehey el # Hahdl 2
(iii) TH HHhed § Tz G YEAtad Tl fehan

S Eehl 2

& IW w1 9o A R T e 9 i
Re:

(1) 94 (i)

(2) (i) 3R (iii)

(3) () ¥R (i)

@ (@), (i) M (i)

54, freifera § 9 = @ erfufan fem wewE o

T G 1 G ASh! ol WEE w87

(1) TSTEH g=mct O STfafEm, 1994

(2) TSTEUH =t US fEE, 1996

(3) TSEYIM YErEd TS (ST 1 ST
& § A B9 & gy " 3R
aafuf=H, 1999

(4) TSEH Y TS (ST w1 A
&l | o] B9 % g § surRon) e,
2011

52. Match List-I with List-II and select the correct
answer from code given below :
List-1 List - I1
(Authors) (Books)
(1) Atul Kohli (1) Divide and Quit
(2) Granville Austin (ii) The SuccessofIndia's
Democracy
(3) Pendernl Moon (iii) The Republic of
India: Development
of its Laws and

Constitution

(4) Alan Gledhill ~ (iv) WorkingaDemocratic
Constitution A
History of the Indian

Experience
Codes:
@ Q@ 3 Q)
(H @) (1) ® (i)
2 G @ G (1)
G) G v O (i)
@ @O G G 1)

53. Under the Provisions of the Article 368(2) of the
Constitution of India, if a bill comes to Rajasthan
Legislative Assembly after passing by Parliament
of India for resolution to rectify, then.

(i) Resolution can be passed by Assembly.

(i) Resolution can be rejected by Assembly.
(111) No Amendment shall be proposed to such a

resolution.

Select the correct answer using code given below:
Codes:

(1) () only

(2) (ii) and (iii)

(3) (i) and (iii)

(4) (i), (i) and (iii)

54. Which of the following Act/Rule of Rajasthan has

a provision of a joint meeting of Gram Sabha?

(1) Rajasthan Panchayati Raj Act, 1994

(2) Rajasthan Panchayati Raj Rules, 1996

(3) Rajasthan Panchayati Raj (Modification of
provisions in their application to the
Scheduled Area) Act, 1999

(4) Rajasthan Panchayati Raj (Modification of
provisions in their application to the
Scheduled Areas) Rules.2011

on
o



55.

56.

57.

58.

59.
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fretiferd & o F o qErEs TSRy faumEe
¥ A gfauel & 98 W TR ©?

() sR=a St (ii) Tere=ror meR
(iil) 3o TEad (iv) TG& TS
T IW &1 =W A9 kU T He ¥ wifT
.

(1) @), (i) 3R i) () (i) 3 (ii)

(3) (iii) R (iv) @) (i) 3R (iv)
= ° 9 fora Tifysit aeifusial & faars
o 9 B9 W AR, TSR g S
T&l T S Gehel-

(1) "amaa gfafael & 99W 1@ SU-uH

(2) damIa |fafaal &1 warh afafa & steae

(3) U= w§ U™

(4) TSen oo =1 S9-yq@

FreAiferd § 9 A W U TSEAF o9 HHaTHR

AEM F T W e 22

(i) TEHT TS TSR WHR HT 18 e,

1999 i Teh AT g g3

(i) I 3TN A, 2000 ¥ fFRamie gam

(iii) AME AR WU (FwEE) st
2006 % TR M | & TH 1A Td
3 WEE 1 WieHE fma w2

(iv) 9% ayd sTeAEl | 9 T Soaan =ArEed
% Qeriega =i @ 2

T IW &1 WA 9 kU T He ¥ i

h:

(1) (@), (i) 3R (i) () (1), (2) 3R (@)
3) (i), (i) R (v) (@) (i) 3R (i)
Teadqd e & TreifRa =it § 9 e
TS 359 e | AR 6 © 82
(1) =mHfd TA.TH. FHEctara
(2) =IPEd &i.eE. =R
(3) =EEfd T, "

(4) =Fgfd SRHl. el
1 & W A ToE fauEE & Wien st
Y 9 TG T 22
(1) g™ =% fow
(2) A g =
(3) wnfqare =9ea
(4) TTEH HIIOM

55.

56.

57.

58.

59.

Which of the following Chief Ministers have not
held the post of the leader of the Opposition in
Rajasthan Legislative Assembly?

(1) Haridev Joshi (i) ShivcharanMathur

(ii1) Ashok Gehlot (iv) Vasundhara Raje

Select the correct answer using code given below:
Codes:

(1) (), (i) and (iii) (2) (ii) and (iii)

(3) (iii) and (iv) (4) (i) and (iv)
After receiving complaint against following office
bearer/s Lokayukta, Rajasthan cannot make
investigation against

(1) Pradhan and Up-pradhan of Panchayat

Samities

(2) Chairman of the Sthyayi Samiti of Panchayat

Samities

(3) Sarpanch and Panch
(4) Up-pramukh of Zila Parishad

Which of the following statements are correct in
context to Rajasthan State Human Rights
Commission?
(i) It was constituted on 18, January, 1999 by
notification issued by Government of
Rajasthan.

The Commission became functional from
March, 2000.

Rajasthan Human Rights Commission is
having one chairperson and 3 members in
accordance with the provision of the
Protection of Human Rights (Amendment)
Act, 2006.

One of its former Chairman's has retired
judge of Supreme Court of India.

(i)

(ii1)

(iv)

Select the correct answer using code given below:
Codes:

(1) (@), (i) & (iii) (2) (@), (ii) & (iv)

3) (i), (iil) & (iv) (4) (i) & (iii)
Which one of the following judges of Supreme
Court of India has not worked in Rajasthan High
Court as judge?

(1) Justice N. M. Kasliwal

(2) Justice B. S. Chouhan

(3) Justice A. K. Mathur

( d) Justice R. C. Lahoti
Who among the following has held the post of
Protem Speaker, Speaker and Deputy Speaker of
Rajasthan Legislative Assembly?

(1) Poonam Chand Vishnoi

(2) Niranjan Nath Aacharya

(3) Shantilal Chaplot

(4) Paras Ram Madema

O\
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60. TSR faumgsn o ‘o 7 & fodt faug

ol.

62.

63.

64.

R WIH T’ w1 gfea & fem & g o
= 4 ¥ %1 9 wUd 9§

(i) T=@ THA HT BG ALHH w WA
HETH B

TeE g favimifie R @1 9eA Semnm S
Hehdl B

JeE B g ufed foedt faftre se &
ifaa @
T & oh B Uw U fush gede e
T B
T IW &1 WA A9 kU T He ¥ wifve
Fe

(1) (@), (i) ¥R (i) () @), (i) W (iv)
3) (), (i) 3R (v) @) @) W (iv)
foreft g W Gauife Uy & ded T
#1 fawifer omfea o, fog fomm Too@r =t
TawTeT 36 e faurg o quenfya fea
T 3R IEH UIRd e T 99 e

g
(D

(i1)
(iii)

(iv)

el T STHfa 3 € @ o stfufm
sifafumr=r 9= grm

TUTel AT qeeFl & SAfashao &
YR W AR S T THR H Gohell 2l
T T foeaes i qseufa &1 s1gafa
% fa@ 99 <m

I TeadTe a1 Tegdfa 31gafa 3 @ e
GoTfen ST & MU T 39 SR
=ferd T <

g oA, (a%g @ a1 ) & TR F A=
T T R?

(1) A 399 % foe IRe

) faga

(3) Teife S

(4)

=1 ¥ 9 fore wra o 99 2016 ¥ 2021 & fag
+/-2 JfAeId & Wed W % W IR Yiaw i
- Thif w1 @ed Ffyea e 22

(1) 9Rd fod S (2) 9Rd TR

(3) ffa amm (4) et fom s
T 2016-17 & SR 9Rd ¥ el wemer fafam
% zfeel ormiae o areH & g<d | fr= o
FF G I T W @2
(1) #rde™

2
3)

(4)

(2) famg

(3) S (4) 7TET,

60. Which of the following statements are correct in

61.

62.

63.

64.

reference to rule of procedure for 'Motion. For
Adjournment on a matter of Public importance' in
Rajasthan Legislative Assembly?
(i) Speaker's consent necessary to make motion.
(i1)) The motion shall raise a question of
privilege.
(iii) The motion shall be restricted to a specific
matter of recent occurrence.

Not more than one such motion shall be

(iv)
made at the same sitting.

Select the correct answer using code given below :
Codes:

(1) (), (i1) & (iii) (2) (1), (ii) & (iv)

(3) (), (iii) & (iv) @ (1) & (iv)
Under the Constitutional provision on a Bill,
recommendation of the Governor was required,
but without recommendation of Governor it was
introduced in Rajasthan Legislative Assembly and
passed by it and sent to the Governor, now

(1) where assent to that Act was given by
Governor shall not be invalid.
The Governor can refuse to assent on the
ground of the violation of Constitutional
provisions.

2

The Governor will send such a Bill to the
assent of the President.

3)

The Governor or the President assents it.
then the court will declare it unconstitutional
on the ground of Constitutional provisions.

“4)

What has been kept under the purview of Goods
and Services Tax (GST)?

(1) Alcohol for human consumption

(2) Electricity

(3) Petroleum Products

(4) Ghee
Which of the following fixed the four percent
inflation target in India with tolerance level of
+/-2 percent for the period 2016 to 2021?

(1) Reserve Bank of India

(2) Government of India

(3) NITI Aayog

(4) Fourteenth Finance Commission
In terms of the share in Foreign Direct Investment
Equity inflows, in India during 2016-17, which of
the following countries is on the top?

(1) Mauritius

(3) Japan

(2) Singapore
(4) US.A.

ot
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65. FHfEl GEIfTeh 1 7SS ¥ wRIOR Uik &t
G A L B2
(1) Susfremeti 1 @M wd e7demd fRR 9%
@ 2
(2) FH AN R SR SR Yaeti § wferemedt
TEd W F g G TR HT A
I3 S @I R
(3) AfHEEensT & favaeardt IIRHI0 & e
e ®1 < e 8 T R
(4) 3 9t
66. YRA ¥ Tifed 51 ISR &1 TcATYH AR 91T
3
(1) S’ gfayfa sem (2) =i faa aer
(3) a1 HET SR (4) STHT FHIOMGS STSIR
67. =1 ® @ ®F W H=F SO & Toed @i o
wftnfed =&t fran s € 2
(1) =S et
(2) =T et
(3) W& faurl g wEstS TSR | uw
AT T AT
(4) 19 F=d
68. TREdl Uuadta AeEl B g W SR feam m
aq1?
(1) TSt =ama & | oM dgfg
(2) onfYw wafg wd AHar fas
(3) @Ifus dg Td SR gHeRtE H@gts
(4) e, uRolE qen SR i
69. ATTHRIT (A): T90 Ifd 5 § oo & wR0
T 9Rd whifa e 2
WHIUT (R): TSy § gfg & &R0 999 Ifd o
o faada g 2
(1) (A) 3R (R) <Al wE € 3R (A) 1 @&l
T (R) R
2) (A) 3R (R) I T&T €, Afep (A) 1 G
TR (R) e R
(3) (A) W& 2, dfep (R) T 2l
(4) (A) T €, W (R) TEl 2l
70. TSR & WEM A Tod gashish & STER
EERY,
(1) 1999-2000
(3) 2010-2011

(2) 2005-2006
(4) 2011-2012

65. Why companies go for business process re-
engineering with the help of technology ?
(1) Customers demand and expectations are
continuously increasing.
(2) IT being leveraged to provide competitive
edge in products and services at lower costs.
(3) The pace of change has accelerated with the
liberalisation of economies world over.
(4) All of these
66. The most volatile part of the Organised Money
Market in India is
(1) Government Security Market
(2) Commercial Bill Market
(3) Call Money Market
(4) Certificate of Deposit Market
67. Which one of the following is not included in the
revenue account of Union Budget?
(1) Interest Receipts
(2) Tax Receipts
(3) Profits and Dividends of Government
Departments and Public Undertakings
(4) Small Savings
68. Eleventh Five Year Plan emphasised on
(1) Economic Growth with Social Justice
(2) Economic Growth and Human Development
(3) Faster and more inclusive growth
(4) Faster, sustainable and more inclusive
growth
69. Assertion (A) : Cost push inflation is caused by
shift in aggregate supply curve.
Reason (R) : Shift in aggregate supply curve
takes place because of increase in
wages.
(1) Both (A) and (R) are true and (R) is the
correct explanation of (A).
(2) Both (A) and (R) are true, but (R) is not the
correct explanation of (A).
(3) (A)is true, but (R) is false.
(4) (A) is false, but (R) is true.
70. Which is the base year of Rajasthan's general
wholesale Price Index?
(1) 1999 -2000
(2) 2005 -2006
(3) 2010-2011

4) 2011-2012

o
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a9 2017-18 | T | fRer wimdt (2011-12)
R FHA TF =] AR & Jhg X ofi?

(1) 7.16% (2) 6.23%

(3) 4.5% (4) 10.67%

B & & aul | SR & oI i Tored gt
o = § @ A 9 A% gl Toe Y= Y
W@ ®?

(1) 3= &0 ¥ fe@m (2) T &1 R I5E
(3) TR T (4) F=T FH

=1 o 9 form am foea wfEemn =) wfeenfu
forega emmar g ¢ ?

(1) e (2) B9

(3) hTeAIfEY (4) ¥

TR TEHR A T H JIqq SR favafaene
I TG %I T T8 el Lfuq femen e 22
(1) (2) HrHt

(3) = (4) SR

ORI & e e o f=1 & ¥ *iF 91 3o
faeh! g&d@ (USP) et © 2

(1) o 7 =Eed ¢ (I )

) T, wear wd eaferEr

(3) Wel T e

(4) fafeeesa v

7 & | HH 9 TSR F qd-85 T8 82
(1) dyei (2) Her

(3) (4) TTE=t

TorM 1 7= giehl o @ %F 9@t sia ‘T
e TR0 HEHA’ (NLCP) & 3T=iid el ST
22

(1) de R et

(2) TFR! A

(3) @&Y AR A

(4) 1 WX #Hid

STUHEIE TR & fomnfeRl & faw gemem
WHR &1 A BEgha de & g
Hre-faat 1 21 iR gd wdien & Wi % Th
fafvea g T aret faenfat 1 faia gema
EH w1 St @ | = Ffved w4 @)

(1) 1 9 ¥ | HH - HF T T 40%
(2) 1.5 9@ T W FH - A T FH 45%
(3) 2 GG TWF ¥ FH - HH H FH 50%
(4) 2.5 @ T W HH - HA H HH 55%

71.

72.

73.

74.

75.

76.

77.

78.

Growth rate of GSDP (Gross State Domestic
Product) at constant prices (2011-12) for the year
2017-18 in Rajasthan was

(1) 7.16% (2) 6.23%

3) 45% (4) 10.67%
Which of the following item provide maximum
revenue in the Revenue Receipts of Rajasthan
budget in recent years'?

(1) Share in central taxes

(2) State's tax revenue

(3) Non-tax revenue

(4) Union grant
Which of the following thermal power projects has
the highest installed power capacity'?

(1) Suratgarh (2) Chabbra

(3) Kalisindh (4) Kota
Rajasthan Government has established the first

Skill University in the state. Where was it
established?

(1) Ajmer (2) Sikar

(3) Kota (4) Jaipur
Which of the following is not the Unique Selling
Proposition (USP) of Rajasthan in tourism sector?

(1) Palace on Wheels train

(2) Forts, Palaces and Havelies

(3) Fairs and festivals

(4) Medical tourism
Which of the following is not considered as oil
field of Rajasthan?

(1) Aishwarya

(3) Ganga
Which one of the following lakes of Rajasthan is
not covered under National Lake Conservation
Programme (NLCP)?

(1) Fateh Sagar Lake

(2) Nakki Lake

(3) Swaroop Sagar Lake

(4) Ana Sagar Lake
Government of Rajasthan's Post-Matric Scholarship

Scheme for students of minority communities
provide financial assistance to those having a

(2) Mangla

(4) Saraswati

combination of parental income and percentage of
marks in previous examination. That combination is
(1) less than X1 lakh - at least 40%

(2) Jess than X1.5 lakhs - at least 45%
(3) less than %2 lakhs - at least 50%
(4) less than 2.5 lakhs - at least 55%

o
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o o Teeers ATl 1 G Sevd ©

(1) el Afeenst, fawenst, aiommet @i
T Afgansti & Sied TR H GUR HE

(2) SUSTR SAfFadl 1 G0 YIE

(3) eyfea wfa/sHsTa @R fymgr X *1
RIS STfereRtaT sl Ff¥Teqor 3

(4) TGS & H USR JoH T

et TSRE § e %9 w3 & fau g9

WM e ®Ri%H (MPOWR) fhas grn gmfefa

22

(1) uferm fasm o (TEa) gm

(2) STUM TR & Tt (JICA) g1

(3) P ok =& fofu s i (37E.
TH.TEL) a1 WA Rl = g

(4) dAfed TR fasma o=t (H.TE,
<L) ga

Ty | veell ar = o 9 g ufEsen o

e =T e W At e T ©?

(1) TEd RS

(2) R ferwe i

(3) THIT HATA IRESH

(4) TRl RS

frefafad & @ &9 @ Tw R-Sogelrd W

IR B?

(1) @A ) fam

(3) S (4) T

g A, e s o STEm w1 S H ael

e #:

(1) X-fepof (2) - TRt

(3) erere fevof (4) 1 feRvot

T HO ¥ SuH & fou diad & s W

gHra: foRg oTg S wa wgE S @2

(1) I = (f1) (2) S& T

(3) TegmfEm &t (4) 9% =+t

T 39 A (UHF) &1 a0 |IERE: =i

T W €

(1) -7 & ®9 9

(2) STHT WM & €9 |

(3) sfaRe wm & w9 H

(4) IS WM & T H

79.

80.

81.

82.

83.

84.

85.

Main objective of Swavalamban Yojana in
Rajasthan is
(1) To improve the living standard of poor
women, widows. separated women and rural
women.

2
3)

To impart training for unemployed persons.
To impart training to SC/ST and OBC
unemployed girls.
(4) To provide employment in unorganised
sector.
Mitigating Poverty in Western Rajasthan (MPoWR)
Programme is supported by

(1) Asian Development Bank (ADB)

(2) Japan International Cooperation Agency
(JICA)
International Fund for Agriculture
Development (IFAD) and Ratan Tata Trust

3)

(4) Canadian International Development
Agency (CIDA)

In which of the following projects for the first time,
sprinkler inigation system has been made
compulsory in Rajasthan?
(1) Parwan Project
(2) Dholpur Lift Project
(3) Narmada Canal Project
(4) Takli Project
Which of the following is an example of a
non-cellulosic fibre?
(1) Rayon (2) Linen
(3) Jute (4) Nylon
The waves used in common TV remote control are
(1) X-Rays (2) Ultra-violet Rays
(3) Infra Red Rays

Which metal is generally used for coating of brass

(4) Gamma Rays

utensils to prevent copper contamination?

(1) Tin

(2) Zinc

(3) Aluminium

(4) Lead
Waves of the Ultra High Frequency (UHF) range
normally propagate by means of

(1) Ground waves

(2) Sky waves
(3) Space waves

(4) Surface waves
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86. HFF K1 TE- s aenfid €

(1) 3T dismfod @ (2) 3TeHE AR W
(3) Sefta st W (4) e senio w®
87. =2 qu dR-%E H frEfafed & 9 w9 @
I T 22
(1) =2 24 GHz et ogfa 9z Tga
? e - 2.4 GHz 1%l 5 GHz
Y qE TgF B FehaT 2
(2) =2 had JaR T &5 S (WLAN)
% foIu v gl € Seifeh aE-wTE shad
Jar fawga &g S@ (WWAN) & fag
WK B R
=2 TRl T X @ & SUHTl &
e wE e U i ST @, de <
YR HT TH-FW HI e W@ | g
AITIF T feheg Wl -1 Trifirent wn
H o St @ e S SO 1 TH-SW
1 gftc W@ W g Tevasw e
39 Gey § I HeM (=g 24 GHz e
STafa 9 W HA § TAfE -

2.4GHz 319€1 5 GHz 3T9fd 9g 9ged Y
Tohdl 1) A1 (SEY Hadd SaX L

&5 STl (WLAN) & forq ugsr g @

eI STE-WTE el SR faggd & S

(WWAN) & e wgs g1 @) 9l 21
88. frfafad @i W foar &ifv :

3)

(4)

T & g EIE]

A. Towg gmer [ECECNERE)
FHaRke &= (VSSC)

B. I3MIA IWE IS (FleH)
%= (URSC)

C. U™ g Haed UG (STETE)
%= (NRSC)

D. 9T gR TIH  TER (AT
HEAM (IRS)

ST ¥ W %A 9 T Gaferd €2
(1) ®aa A o1 B (2) ®ad A, B T2 C

(3) ®ad B,C @M D (4) A, B, Cd D
g9. frefafgad & 9 ®F W dicl-gda Scg @l

SEYH wd fawm @ed (SemEis) W

forepfea =t forean mn € 2

(1) =

(3) g

(2) HIfenR
(4) Tferte

86. The machine language of computer is based on

(1) Abstract Algebra

(2) Matrix Algebra

(3) Boolean Algebra

(4) Linear Algebra
87. Which of the following difference between Blue-

tooth and wi-fi is correct?

(1) Bluetooth uses 2.4 GHz radio frequency
band, whereas wi-fi can use 2.4 GHz or 5
GHz frequency band.

Bluetooth is used for Wireless Local Area
Networks (WLAN) only whereas wi-fi is
used for Wireless Wide Area Networks
(WWAN) only.

When information is transmitted between
two devices using Bluetooth technology, the
devices have to be in line of sight of each
other, but when wi-fi technology is used the

@)

3)

devices need not be in the line of sight of
each other.

Both the statements (Bluetooth uses 2.4 GHz
radio frequency band, whereas wi-fi can use
2.4 GHz or 5 GHz frequency band.) &
(Bluetooth is used for Wireless Local Area
Networks (WLAN) only whereas wi-fi is
used for Wireless Wide Area Networks
(WWAN) only.) are correct in this context.

(4)

88. Consider the following pairs :

ISRO Centres Location

A. Vikram Sarabhai Trivandrum
Space Centre (YSSC)  (Kerala)

B. UR Rao Satellite Bengaluru
Centre (URSC) (Karnataka)

C. National Remote Dehradun
Sensing Centre (Uttarakhand)
(NRSC)

D. Indian Institute of Hyderabad
Remote Sensing (Telangana)

(IIRS)
Which of the above pairs are correctly matched?
(1) A&Bonly (2) A,B & Conly
(3) B,C&D only 4) A,B,C&D
89. Which of the following polyherbal product has
NOT been developed by the Defence Research and
Development Organisation (DRDO) :
(1) Amtooth (2) Lukoskin

(3) Nocdurna (4) Eczit
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91.

92.

93.

94.
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RA 1 U8l SYI-HH ¥ W (BVR) ga-9-gal
H AR & ael @Ry sifisfeud (Designed)
TS T SHYM 3R faRE " (DRDO) gM
forer T gaae 2
(1) gedt
(3) e

(2) &f

(4) STRT
T uA - 37 % 5 TH & I8 H 15
AW, 2017 H TEAAYAS R STE yHITEd
fere m@?

(1) 80 (2) 104

(3) 72 (4) 98

T F01 forent 8 | F9 T fomr 107 HeX |
FH 2, FEAM T

(1) wrEsht Tifidma (2) freft wiféswa
(3) = et (4) Teh! wiidehat
HicTd 1 & Hica™ 11 § gafed &1, 9= fKu
2l I HWEAd ©§ Hal SW K FIIT Hifo4:

wic| 1 i 11

A. FIET-¥RT (i) RS
B. ®d ¥&T (ii) gt
C. Y 6 (iii) WTfde TR
D. =t (iv) TR
E. ifern (v) RS

A B C D E
(H @G  Gv) (v ) @)
2 O @Gy Gy (v (@1D)
3) Gv) @ (v)y @) (i)
@ O (G (v (@G (D)

e W UGS e 21 w1 PR SweeeE
B

(1) gmrRiferan & fem

(2) FETReR fagm & fag

(3) ==A fagm & fau

(4) TR fagm % foau

e fafafeel w1 Y@ @ T9d: sTeed U8
HH W I WA TSy T T T el a0
wEd B~

(1) FE SEAFIEES Fahih

(2) A IR

(3) TS GAFRIOT

(4) HTEA STERIT

90.

93.

92.

93.

94.

95.

India's first Beyond-Visual Range (BVR) air-to-air
missile indigenously designed & developed .by
Defence Research & Development Organisation
(DRDO) is:

(1) Prithvi

(2) Agni

(3) Astra

(4) Akash
How many satellites were launched successfully
by PSLY-C37 in a single flight on 15 February
2017?

(1) 80 (2) 104

3) 72 (4) 98
A particle having at least one dimension less than
107 metre, is known as

(1) Micro particle

(2) Milli particle

(3) Nano particle

(4) Macro particle
Match column I with column II and choose the
correct answer using the codes given below :

Column- I Column- II
A. Grape Sugar (i) Fructose
B. Fruit Sugar (i) Sucrose
C. Milk Sugar (ii1) Natural Sweetner
D. Table Sugar (iv) Glucose
E. Stevia (v) Lactose
Codes:
(CO I ) 3 @4 (B
I Gy ) () @) @)
@ O (@@ @G (v (D)
3 G @ ) (i) (i)
@ O (v) @) (D)

In humans trisomy of chromosome number 21 is
responsible for

(1) Haemophilia

(2) Klinefelter Syndrome

(3) Down Syndrome

(d) Turner Syndrome
The total amount of green-house gases produced,
to directly and indirectly support human activities,
is referred to as

(1) Carbon dioxide index

(2) Carbon footprint

(3) Carbon sequestration

(4) Carbon capture
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“ e Tl o g Frefefad o 9 s 9 qEtero

Tguh STEET 72

(1) 1A eEsfiamEe 3R TEgsH

(2) e HHFEES 3R HTE SEAFES

(3) EeH SIS R TR TESTIEE

(4) 3T & e SEFIEE

a7 &9 o fastaq feu o fefafea § 9

HH Y URY B ARAE o (HIE) A,

2017 ¥, g&ii =t uRtwrn @ foeiifa fen w22

(1) 4™ (2) TS

(3) = (4) el

DNA fRR-fafen &1 emur @

(1) fs ==

(2) T STIHA T AfeA

(3) DNA dfdssfa

(4) DNA wg&ud

T ST Tl STHU B fed €

(1) SHEl, SR ¥ (2) WUER, S ¥

(3) ¥@a, dRMR | (4) YU, SER A

et & 9 i W woF U & e §

& T 22

(1) &8 So-T=eoie w=) &1 uEe g
¥ e 2

(2) U9 FEfTR T qA duER q@ AT
e H B €

(3) Tl ¥ TRt wRrAi w1 FreAteRTor wfsha
1 B W FL A 2

(4) Trefiepa B A werel | iy srafire aered
S wE w1 "e-gA (MeR), dfeEt &
e anfE B B

TS § GR Suemen fod
(1) AR ¥ (2) SEAR H
(3) Ha H (4) TR o

TH Y H T HUA & Y T GReheqEd & TE
2l
HAA: JAM o9 e ? R off o9 99 e 2
UReRedATd: 1. A SAfFal ot AEufemE HEsik
et B
I | =aferd WH=Ia: oS drg e
Hehd|
T, I W IW GE T 7
(1) @ael | weF ¥ siafifed 2|
() aa 11 ®oq o safifed 2
(3) Tl 1 3R I e | eAafifea €
(@) A, A HeE H SAaritead 2

96. Which among the following environmental
pollutants are responsible for "acid rain"?
(1) Carbon dioxide and Nitrogen
(2) Carbon monoxide and Carbon dioxide
(3) Nitrous oxide and sulphur dioxide
(4) Ozone and Carbon dioxide

97. Which of the following plant, grown in non-forest

area has been omitted from the definition of trees
in the Indian Forest (Amendment) Act 2017 '?
(1) Palm (2) Canes
(3) Bamboo (4) Banana
The basis of DNA finger printing is
(1) The double helix
(2) Errors in base sequence
(3) DNA replication
(4) DNA Polymorphism
National Research Centre on seed spices is located
at

98.

99.

(1) Doomara, Ajmer  (2) Mandore, Jodhpur

(3) Beeehwal, Bikaner (4) Durgapura, Jaipur

100. Which of the following statement is incorrect in
reference to compost?

(1) Inthis, biodegradable waste is decomposed
in pits.

(2) Itisrich in organic matter and nutrients.

(3) The process of decomposition in pits is
slowed down by earthworms.

(4) The waste material decomposed is farm
waste material like livestock excreta,
vegetable waste etc.

101. Solar observatory in Rajasthan is located at

(1) Jaipur

(2) Udaipur

(3) Kota

(4) Ajmer

102. In this question. a statement is followed by two
assumptions :
Statements: Though he is fat yet he runs fast.
Assumptions 1 : Fat people have weak muscles.
II : Fat people generally cannot run
fast.
Then which of the answer is correct?

(1) Only I is implied in the statement.

(2) Only II is implied in the statement.

(3) Both I and II are implied in the statement.

(4) Neither I, nor II is implied in the statement.
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= W foar wifsE-
H: gfqart adenet & asma F g
SHRME STAfRA & MUR W
T AR § A e =med?
&, 78 37wt & ol aveg @
S i@t adensti &1 =@ Wed e
o swEme 2
I 7, wfdal &1 em yd ThRiEE
IqAfedel w1 TE SAET ST Wehdl
Fiifr fovafoael & AT o
THEEE TE B
7 4 ¥ ®F Wy A W qF Teigd 28 ?
(1) &ad |
(2) ®ad Il
(G) WAL, AE I
(4) A1 e 10
wer: aeft wmand we €
gl oo i 2
frepd: L @l s ufeEi €)
. % dfwEl smEd g
1. gft et e €
V. gt gfar smard )
I
(1) e [ a1 IV e % 2
() Ef FTE HW@
(3) weed 1 o 11 3TER0 id &
(4) HE TR0 & HL B
T wEeIEdl % WY T HUA A= o W
TThT e T Y e T T € T4 FHeH
H & T Yo SER W ghAfkEa Y ik afes
®Y Y &I GG T FEAE FTHRT A 2
H: FEET HT T ot Afd & favy o
IS HEA § HHAR] AHfeeh STk
IR W M b B
HEAEAT: . FEA H T Ot Afd w1 e
UG | o e
I1. 39 it wH=1REl 1 a1 § g
freafaa &2 <1 =nfgul

eh: 1.

IW S

(1) sheel 1 3TER0T &l 2l

(2) eet 11 STTEN HTl B

(3) A I, N E I STTET Hl B
(4) S T e 11 3TER0 i &

103.

104.

105.

Consider the following:

Statement: Should there be recruitment in
Government service on the basis of
past academic performance rather
than through competitive
examinations?

Arguments:

I. Yes it will be beneficial for those candidates
who are unable to bear the expenses of
competitive examinations.

II. No, the past academic performance cannot be
made the basis of recruitment because there is
no uniformity in the assessment by the
Universities.

Which one is/are the strong argument/s?

(1) Onlyl (2) Only I

(3) Neither I, nor II (4) BothIand II
Statements : All branches are flowers.

All flowers are leaves.
Conclusions :
I. All branches are leaves.

II. Some leaves are branches.

111

IV.

Give Answers:
(1) Only Il and IV follow
(2) All follow
(3) Only land II follow
(4) None follows

A statement with two courses of action is given

All flowers are branches.

All leaves are branches.

below.
You have to assume everything in the statement to
be true and on the basis of the information given
in the statement, decide which of the suggested
course of action logically follows?
Statement: A large number of employees have
gone on a mass casual leave in protest against the
company's new recruitment policy.
Courses of action :
I. The company should immediately withdraw
the new recruitment policy.
II. All these employees should immediately be
suspended from their service.'
Given answer :

(1) Only I follows

(2) Only II follows

(3) Neither I, nor II follows

(4) BothIand 11 follow
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§ W emRfa W Brgel # wEn SR " HRR
e i GE w1 I 2

(H o 21

(3) 2 4) 3

A4 +5-2=333WI0+ 12 -5 =119,
A6+ 8 -3 =

(1) 73 () 85
(3) 67 4) 57
Tui goft
YE WD OF SH _
w's ‘oK’
1 A T T
s B
(1) = 2 .
PE QT
3) = 4) 22
A3) = 4) A
ST
(1) AdCb (2) VxYw
(3) MpOn (4) SvUt
TH He 9 H,

I. "lew nas hsiploy", T 379 % "sheis bringing

coffee".

II. "wirsut lew ploy", =T 372 ® "he is bringing

tea".
III. "sutlim nas", &1 37 2 "ten and coffee".

Al "he" ® ¥ wM W v w1 AN fRAT T
27

(1) wir (2) sut

3) lew (4) ploy

i A, #iwF B 9 fiaerd €1 B, T T C 3R
Tk T D 1 fudi € | B, A %1 @il 81 C foenfea
2 3R 3T TH A B E, B I Ty 71 A TR
TR B Y Hrfea 82

(1) siFa (2) 9=

(3) T (4) sty sifsm
ﬁx,y,zww%,ﬁ}mx+y+z
=6 &% fafq= gl *1 Fen

(1 3 2)7

(3) 10 “4) 12

106.

107.

108.

109.

110.

I11.

112.

The difference between the number of triangles
and number of parallelograms in the followin

figure is :
(H o 21
3 0 “ 3

If4+5-2=33and 10 + 12 — 5 = 119 then
6+8-3=

(1) 73 (2) 85

3) 67 (4) 57
Next term of the letter series is

Qr I
) — 2) ==
M 3 @
PE nr
3) — 4) =
(3) = 4) m
Pick out the odd one
(I) AdCb 2) YxYw
(3) MpOn (4) SvUt

In a code language.
I.  "lew nas hsi ploy" means "she is bringing
coffee".

II. "wir sut lew ploy" means "he is bringing

"

tea".
I11.
Then which word has been used for "he"?
(1) wir (2) sut
3) lew (4) ploy
Mr. A meets Mr. B. B is the father of a son C and
a daughter D. E is the mother of A. C is married

"sut lim nas" means "tea and coffee".

and has one son. E is the daughter-in-law of 8. How
is A related to B?

(1) Uncle

(2) Grandson

(3) Son

(4) Nephew
If'.v, y, z are natural numbers, then the number of

different solutions of the equationx +y +z =06
are:

(1) 3
2 7
3) 10
4) 12
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T ST YHTS Gl & U Sl GE
Heq ¥ af-at fawfsa faean s €, @ o
IRTH! HT IRT 74 BT B1 A G &1 A

1 BI?
(1) 12 ) 15
(3) 17 4) 19

T fagergeti 1 99 iR dfd & FHAW 7 : 2 W
7 ¢ 11 % 3UE ¥ TRt == S 21 g
fagurget &1 e w9 ¥ feret ded g
TE S €1 39 et fgu § w9 ek did &

T ST §
1) 7:5 2) 7:12
(3) 14:13 @ 2:11

Tk i T W, ST, Rd o swe 9
4:1 % oua o % R @ € SI! Ao §
8 :5:3 UM T | AR 60 A 39 Hrd-Torcd
W HERA €, d Gl Al W me S weed
32,850 ¥ Wk a1 TR HSIGU SR €
(1) 35 ) 36

3) 27 (4) 38

Teh BI I 1 SHART 926100 21 AR T8 5%
aiftieh <X | aacdl € Al 2 99 Yo SHh! SHEE
2RI

(1) 760000 (2) 840000

(3) 880000 (4) 800000

T = I W 10% arfte X E 2 96 &
foTu =rsRgfg AT qeI HIHR0T 1S sl AR 3874

21 i 9@ s
(1) 343,700 (2) 317,480
(3) 87,400 (4) 343,450

e fafvaa uftn ffvea =wafs == <t W 3 o
H g el S #1099 H e i g i w6
k AT @ SR kST HE e @2

(1 8 2 9

3) 6 @) 10

yeT & 119 a9 120 1= arfer @ enenfa g1 S
TF TRl H gSiepd ol 1 ge (an H) w2l

113.

114.

115.

116.

117.

118.

The product of three consecutive positive numbers
is divided by each of them in turn, the sum of the
three quotients will be 74. What will be sum of
three numbers?

(1) 12 (2) 15

3) 17 4 19
Two alloys are made by gold and copper in the
ratioof 7:2 and 7 : 11 respectively. Same quantity
of both alloys are mixed and third alloy is made.
In this third alloy, ratio between gold and copper

is equal to
(1) 7:5 2) 7:12
(3) 14:13 4 2:11

On a construction site, men, women and children
are working in the ratio of 9 : 4 : 1. Their wages
are in the ratio of 8 : 5 : 3. If 60 women are working
on this site, then total daily wages of all persons
is ¥2,850. Daily wages of a child is equal to

I 35 (2) X6

3) X7 (4) X8
The population of a small city is 926100. If it
increases at the rate of 5% per annum. What was
the population 2 years ago?

(1) 760000

(2) 880000

(3) 840000

(4) 800000
The difference between the compound interest and
simple interest on a certain sum at 10% per annum
for 2 years is ¥874. Find the sum

(1) 43,700 (2) 17,480

(3) 87,400. (4) 43,450
A sum of amount at certain rate of compound
interest doubles in 3 years: In 9 years it will be k
times of the original principal. What is the value
of k?

(1 8

3 9

@) 6
) 10

Qn. No. 119-120 are based upon following table which
shows number of registered vehicles (in lakhs) in a city.

e | ad 1990-91 [ @¥ 2000-01 | & 2010-11
FR 4.77 9.27 25.38
ER 1.02 1.71 3.51
T 2.46 5.04 11.04
THA 0.81 2.85 4527
= 0.12 1.08 11.82
e 9.18 19.95 97.02

Vehicle | 1990-91 year | 2000-01 year | 2010-11 year
Car 4.77 9.27 25.38
Bus 1.02 1.71 3.51
Truck 2.46 5.04 11.04
Scooter 0.81 2.85 45.27
Others 0.12 1.08 11.82
Total 9.18 19.95 97.02
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119. fF| @@= # 2000-01 ¥ 2010-11 T =FaH
wfaerd 3fs g8 772
(1) == (2) =
() /X
120. 3fg 2000-01 ¥ 2010-11 T ATl I FHA T
o gfaera gfg & 1990-91 | 2000-01 TH HA
Al # wiae g & aueR s 7,
2010-11 # A& &1 | G&A (@ §) TR
B
(1) 42 (2) 42-5
(3) 48.15 (4) 43.36
121. Tk AR % 2018 % S R e ure | fafa=
T W =g 3R SHeh! wwd o foeRor e e

(4) o4

e = 13,200
A SR ASH W RSl FF ol § 5[ 9
fohe wfaera eifersk 22 (o)

e = 16,500

(1) 45% (2) 39%
(3) 36% (4) 27%
122. TSRS THR F HEH 3R TR-Gshoia samat
% Ty fafire &= o 9 S areft siafat
% T W AR W % fau T T greeeer
S oA €1 39 WiRaT 1 @ A 2
(1) SY=R (2) HR
(3) f=m (4) Tea
123. = &1 39 7 2018 = Sy TE ATHH H9 (307
HERT0T) S T | 3 e | R <9 i AW

I BAT?
(1) rcivs (2) S
(3) ™ (4) \rd

124. YA T H TH SHRH! Afca o 9 T
AR ®T Tew St ared fafar wrt, S
Hied W g foda stfuentt wifed feran = )
IHHT F A B?
(1) fe=n gERaa
(3) faer FxEt

(2) <iftept e
(4) SraTet grasH

119. Which vehicle has increased minimum in
percentage from 2000-01 to 2010-11?
(1) Bus (2) Truck
(3) Scooter (4) Others
120. If percentage of increase of total number of vehicles
from 2000-01 to 2010-11 is made equal to the
percentage of increase of total vehicles from 1990-
91 to 2000-01, then total number of vehicles in
2010-11 would be equal to (in lakhs) :
(1) 42 (2) 425
(3) 48.15 (4) 43.36
121. The following pie charts provide the details about
the breakup of the expenditure of a family under

different heads and its savings in the month of June
and July of 2018.

June 2018 July 2018

Saving

Education
25%

Clothing
15%

Transport
25%

By what percentage does the total expenditure on
transport and food in July exceed the same in June?

(approximately)
(1) 45% (2) 39%
3) 36% ) 27%

122. A new software has been launched by Rajasthan
government for monitoring of seasonal and non-
communicable diseases as well as the trends of
ailments found in specific areas. What is the name
of this software?

(1) Upchar (2) Cure

(3) Nidaan (4) Sehat
The team of China has won the 2018 BWF Thomas
Cup (30111 edition). It defeated the team of which
country in the finals?

(1) Thailand (2) Japan

(3) France (4) India
An Indian-American woman has been named as
the Chief Finance Officer of General Motors, the
largest automaker of the United States of America.

123.

124.

What is her name?
(1) Divya Suryadevra
(2) Deerika Suryaburman
(3) Devlka Saraswati
(d) Deepali Surlaxmi

6D
®



zThe Vision

125. INEHAR, TRTF THT AfHHOT & gd
mel-fRye, 3 & H wHER § #® w©?

(1) 3% TH-HTER & T[HIMA F1 HARGHR
g feran T 21

(2) 3% HEF Fahdl TN | Fqahdl g
e feran e 21

(3) 3% UL THG AUFR AN F G
g fean T 21

(4) 3% 99 A WAl AN H G g
o T R

126. S, 2018 # WoIfyrn ® eEifea wfeen fowae
TREN &9 I (TEE-20 THe) areRe |
S B1 wEAA | e A9 w1 e

(1) TrferEa™ (2) Wd
(3) et (4) oTEeIvs

127. W=, 2018 § TSEAM # T@fud 9o W % 1
% IR H = Fworl W faar 1
(31) THHT IHRA T G GHERT SEHA

I SR a8 gR1 ek
(3) o€ WE W HE U & AW Y S 6 L
(9) &8 3R & ®9g o feq 2
ST § ¥ B /HE ¥ HUA T 22
(1) (30 3R (3) (2) e (3)
@) () R (@) @) FAA (W)

128. S, 2018 ¥ 3TReRT Twgufa SHee 20 @Ik ST
HI & a1 T ST 39 % 9o el dosh
Fal TS &1 T ?

(1) frim-—=im o (2) fasta o
(3) famR o (4) e o

129. Tovefta Frfer Sty ‘Hiemar’ &1 224 Eho
S, 2018 H SIS g7 | 36 99 H WA &
affafiem iR A 9 < <9 A fewn fon?

(1) &9 AR e

(2) &Y IR TRy

(3) Aurel R faaam

(4) STUM SR Hge T ST

130. WA QTSI W] & TR W ST =i i
wWR T A & fou efmon wer § 7 'R
-G SHEAN ANl (& B S| S gl
®, S fATgIE F gER # o Sepwe yew
F E, B = @R WepT § S 22

(1) fi% =R (2) I VR
(3) Tieed ®R (4) faeer =R

125. Why was Sharad Kumar, former Director General
of National Investigation Agency, was in news
recently?

(1) He has been appointed as advisor to the

Governor of Jammu and Kashmir.

(2) He has been appointed as Vigilance
Commissioner in the Central Vigilance
Commission.

(3) He has been appointed as member of the

National Human Rights Commission.

(4) He has been appointed as member of the

Union Public Service Commission.

126. Bangladesh has won the Women's Cricket Asia

Cup Trophy (Twenty-20 Tournament) held in

Malaysia in June 2018. Which team was defeated

in the finals?

(1) Pakistan (2) India
(3) Sri Lanka (4) Thailand

Consider the following statements regarding the

first Mega Food Park of Rajasthan established in

March 2018:

(1)

127.

It was inaugurated by Union Minister for
Food Processing Industries Harsimrat Kaur
Badal.

It is known as Smart Mega Food Park.
It is located at Roopangarh in Ajmer.

(2)

3)
Which of the statement/s given above is/are
correct?

(1) (1)and (2) (2) Only (2)

(3) (1)and (3) (4) Only (3)
Where was the historic meeting between US
President Donald Trump and North Korea's Leader
Kim Jong Un was held in June 2018?

(1) Pyongyang (2) Seoul

(3) Singapore (4) Taipei
The 22" edition of the Malabar Trilateral Naval
exercise was held in June 2018. Beside India which
other two countries took part in this exercise?

128.

129.

(1) Russia and Japan

(2) Russia and Bangladesh

(3) Nepal and Vietnam

(d) Japan and United States of America
Haryana Government has launched a 7 Star Gram
Panchayat Rainbow Scheme to give star ranking
to its panchayats on the basis of Seven Social
Parameters. What star ranking is given to those
panchayats that make outstanding performance in
improving sex ratio?

(1) Pink Star

(2) Golden Star

130.

(2) Green Star
(4) Silver Star
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Tiee TR0 W& Gie YY0 1 @l o
fou form T 4 ‘&= 99 ggfg AT STREN
H T ?

(1) ST (2) faferm

(3) WERT (4) TSEAE

A & A JarR A H ¥ T TF hl S
I EE R WEd wEel % HAed g 1008t
e Tt wifa fan T B1 9% ST HiA W e?
(1) fasirm (2) HETeT™

(3) TS (4) wforge

24 S, 2018 H YRA & WX W-0UH & ThH
TA A 12 2 3R 26 e & fenre wwa o Sfiem
Il B IR TRAN ST 9 U TSRIH el
8 HIA A ?

(1) #&91 =% (2) SRR =%

(3) = FHAR (4) s fHe

YR TR A o8 2022 e feheHl | ST era
B T 1 8T @ § 2

(1) 20 M e

(2) 40 M e

(3) 80 M die

(4) 100 T S

T & H 9IRA T <ifent HAR J dRErS fovaswy

(e ==o1) w1 afeen frd Toul o @l 95w

S €1 T faveshy W@ wel it i

TE?

(1) afed (2) wife

(3) Wee ok ot (4) SmEA

Sfed ¥ dee &1 fgfa & o] 9Ra & Seaad

e | afgen =l w1 g | e w2l

& Afgen =mEmrhe wF &2

(1) Sife" w91 q9fa

(2) S 3R ArAfd

(3) SIfd 3= g fag

(4) Sifeeq giftdr gehren

T & ¥ wfhwad &1 JYF Feld I9En J @

TE HH 7?2

(1) o€ TfEa™ & Teot giteafod = &)

(2) 9% WREM HI Fagt 0 H F@H B

(3) 9% wWfehsd &1 forhe IW &1 WO ®H
39 o faerel 2

(4) % THE FT TR A9 F FAH B
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132.

133.

134.

135.

136.

137.

Which State has started a scheme called "Kanya
Van Samruddhi Yojana" to empower women and
promote tree plantation?

(1) Uttar Pradesh (2) Sikkim

(3) Maharashtra (4) Rajasthan
Recently the Capital of one of the North-Eastern
States has been declared as 100™ Smart City by the
Ministry of Housing and Urban Affairs. Which is
that state?

(1) Mizorarn (2) Meghalaya

(3) Nagaland (4) Manipur
On 24™ June, 2018, India's team of four
Para-swimmers crossed the English Channel in
record time of 12 hours and 26 minutes. Out of
them, one was from Rajasthan. Who was he?

(1) Mahesh Chandra  (2) Jagdish Chandra
(3) Virendra Kumar (4) Satyendra Singh
The Government of India has set a target of
achieving how much solar power capacity by the

year 20227

(1) 20 Giga watt

(2) 40 Giga watt

(3) 80 Gigawatt

(4) 100 Giga watt
Recently India's Deepika Kumari won the gold
medal in Women's Recurve event at the Archery
World Cup (Stage III). Where was this World Cup
Competition held?

(1) Berlin

(3) Salt Lake City
After appointment of Justice Indu Malhotra, the

(2) Cortina

(4) Samson

number of Women Judges in the Supreme Court
of India has reached two. Who is the other woman
judge?

(1) Justice Rooma Paul

(2) Justice R. Bhanumati

(3) Justice Gyan Sudha Mishra

(4) Justice Sangeetha Prakash
Yousuf Saleem of Pakistan has been in news
recently. Who is he?

(1) He is the first ever visually impaired judge
of Pakistan.

He is the captain of the Kabaddi team of
Pakistan.

2
(3) He is the youngest player of the Pakistan
Cricket team.

4)

He is the captain of Hockey team of Pakistan.
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TAIE dfe oA 2018 % SR H T el W

fo=m X

(i) Terifae <el ot faed are =% &1 giwa
1 URSE ST T A HT I T

(i) FAE I FU AEAET  hod  q8l
ToHIfaeh A FAE die U hY Wb
o fuse TRas a1 U9 &1 faumas
et | gfde 79w fRw 7

(iii) A sie S w1 Tl 9§ use weet
e q@ 9y @

(iv) T TSHIfd T g 39 @1d | S AT
M AT S w1 PEE SEr e fwen
ST

ST § @ HH G wed W B ?

(1) H (i) 3R (i)

(2) ®ae (i), (i) 3 (i)

(3) e (i), (iii) 3R (iv)

@) e (i), (i) 3R (iv)

foFg oiafter Tt 3 Bt € H SWE H A oW

gt fava & Gag B Ashe HT %A Faqul

fepam?

(1) = ) =

(3) HLTATEE (4) STerT

TSI T Tl FON @G FI Heed b

1 TS STaTE qERR 2017 f&an = 21 3=

¢ RN SThT i Hl SAR-Hid & forg

TR ?

(1) men foeamn TR & (2) ia

(3) Tel AT e (4) e I fo

e STHRIH 916 Hfecd TWEHR 2018 & fag

23 A@H w1 = R T g S 9 TSR

a1 % feu feREeR! 5 T R?

(1) I == @t (2) =i sfa g9t

(3) HEd R (4) Hrua. wiEen
frefafaa = gafaa Fifa:

STEAIT RS IR

A T (i) weren

B. Hidamed (ii) e

C. &%= (iii) T

D. =I=da (iv) ey

138.

139.

140.

141.

142.

Consider following statements about Electoral
Bond Scheme 2018 :

(i) The aim of this scheme is to bring about
transparency in the fonding process of
political parties.

(i1) Only the political parties recognized by the
Election Commission which secured not less
than two percent of the votes polled in the
last general election to the House of People
or the Legislative Assembly of the State
shall be eligible to receive the Electoral
Bonds.

Electoral Bonds shall be valid for fifteen
calendar days from the date of issue.

(iii)

(iv) The Electoral Bond deposited by an eligible

political party in its account shall be credited
on the same day.

Which of the above statements are correct?

(1) Only (i) and (ii)

(2) Only (i), (i) and (iii)

(3) Only (ii), (iii) and (iv)

(4) Only (i), (iii) and (iv)
Recently which space agency successfully
launched the world's smallest satellite carrying

rocket?
(1) NASA (2) ISRO
(3) CNSA (4) JAXA

Dr. Krishna Jakhar of Rajasthan has been awarded
the Sahitya Akadami Prize for Rajasthani
translation 2017. She is awarded this prize for
which of her work of translation?

(1) Gatha Tista Par Ri

(2) Bhint

(3) Aadane Dharyodi Aankhanya

(4) Toba Tek Singh
23 writers have been selected for Sahitya Akademi
Bal Sahitya Puraskar 2018. Who among them is
selected for the Rajasthani Language?

(1) Dr. Chetan Swami (2) Dr. Jyoti Punj

(3) Mohan Alok (4) C.L. Sankhlav

Match the following:

Dynasties Capital
A. Shung (i) Mahoba
B. Satavahan (i1) Banvasi
C. Kaclamb (ii1) Paithan
D. Chandcl (iv) Patliputra
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Ul K HT T HIST;
A B C D
(1 @Gv)y @ @@ @
2 Gv)y @ @@ @
3 @O (Gvy @) (i)
@ @O (@G a) (1)
143. HfeT 9 & aR | frefefed § 9 %A 9 wed
T 872

(i) T STHR (FA-TeeR) & AU 1 39
TRt § AT ST R
areEl, St fF TE gRfhe Gie §, arE
& Wl ° Hag 2l
TRl & Akl H, #f & 9w @ve
AAer 3R a1 &9 ¥ 92 8Y &
T T AR A Zfog el 1 Tl
IR T SMER S AR 2

e W gfu:

() (@, (i) T (@v)  (2) () @ (i)

(3) (@), (i) T (v) (4 (i) (i) T (i)
144. TrefafEd & § ®F 9 Th S W= 97 Bl

It =raE & AR H A B2

(1) 9ot il iR SRR 1 SeA oft

(2) Scarfea a&geti 1 TR R 1 Fefuq

guit gr1 fuifed 1 St et
(3) 2uft A TRE & AR R o i W
S e

(4) 9oft SFaE A W 9Rd ¥ yEfed
145. et Hoad § aH-T-o1§ faum & weme

frea #12

(1) =etsr (2) segfET

(3) ersEH faest  (4) RS g
146. Y YA HT GeA We erafed @

(1) 7R (2) TR |

(3) Afean o (4) IRToTEH o
147. Tr=fafed weTst &1 W& wewd gu:

(i) TS FHEi

(i) TS <& 1 TATT

(iii) SiferaraTen gcrhRTE

(iv) o1 TR faces &1 99

(1) (@), (iv), (iii) TH (ii)

(2) (iv), (iid), (i) T (i)

(3) (@), (iid), (iv) T (i)

(i)

(1i1)

(iv)

@) (D), (), (iii) TH (iv)

Choose the correct codes :

A B C D

I Gv) @G G @
2 @Gv) @G i) (@)
3 @O Gy > (D)
@ O Gy 3G (1v)

143. Which of the following statements about Temple
Architecture are true?

(i) The freestanding (mortar & stone) temples
are supposed to have originated in the Gupta
period.

(i) Ladkhan, which is one of the earliest temple
belongs to Chalukya of Badami.
(i11) InKhajuraho temples, all the compartments
of the temple are connected internally and
externally.
(iv) Kailashnath temple at Kanchi is the earliest
freestanding temple of Dravid style.
Choose the correct answer :
(1) (@, (iii) & (iv) (2) () & (i)
(3) @, (i) & (iv) () (), (i) & (iii)
144. Which one of the following statements is not true
about Shreni System of Ancient India?
(1) Shreni was the organisation of traders and
artisans.

(2) Quality and the price of the produced goods
was determined by the concerned Shreni.

(3) Shreni used to control the conduct of its
members.

(4) Shreni system was prevalent only in
Northern India.

Who created the department of Diwan-i-Arz in
Delhi Sultanate?

(1) Balban (2) Iltutmish

(3) Alauddin Khilji (4) Firoz Tughlaq
The main seat (Peeth) of Yarkari sect is situated at

(1) Shringeri (2) Pandharpur

(3) Nadia (4) Varanasi
Choose the correct chronological order of the
following events :

(1) Lucknow Pact

(il)) Formation of Swaraj Party

145.

146.

147.

(ii1) Jallianwala Massacre
(iv) Death of Bal Gangadhar Tilak
Select the answer from the following code:
(1 (@), @v), (iii) & (ii)
2) (), (i), (i) & (ii)
(3) (@, (i), (iv) & (i)
) (®, (i), (i) & (iv)
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148. Trefafaa & @ ®F @ 39 gafed T2 @

e Yardeh
(1) 9a=d 3w - S, T
HiERIECIEIRC
(2) divre gfdg & - WA S
(3) Ten wiAfq - TATH. &
(4) G e - oW aTSTaRh
RRIELSE

149. wIfdwRl, St BIET a9 wUve H INHA &1 o
(1) AR 3R =]
(2) SFTEdl =R AR
(3) 9 STTH<
(4) 2@y faert
150. Teft-gXfeort Gt o forem meaeer 1 sffiet o
1?7
(1) A Te®
(2) A9 SEIR TG
(3) T SH=E
(4) Temareon

148. Which of the following pairs is not correctly

matched?

Institution Founder

(1) Servants of - G. K. Gokhale
India Society

(2) Social Service - N. M. Joshi
League

(3) Seva Samiti - H. N. Kunzru

(4) Social Reform - Shri Ram Bajpai

Association

149. The revolutionary, who was not involved in
Hardinge Bomb incident?
(1) Master Amir Chand
(2) Bhagwati Charan Yohara
(3) Bhai Balmukund
(4) Avadh Bihari
150. Who played the role of mediator in Gandhi-Irwin
Pact?
(1) Motilal Nehru
(2) Tej Bahadur Sapru
(3) Annie Besant
(4) Chintamani
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